[ AH-965H 7|
REVISIONS RELEASED {8-29-74
+.010 REV] TESCRIPTION [ DATE | APPROVED
% e HoLes G |2115%] REDRAWN, ADDED 2.35 & .16/.51 DIM'S  [1-16-91
: H {2405¢] ADDED ITEMS 12 AND 13 6/25/93

R
e/

4

{]

(9 —wm fum—

2.312
2,22

3.03 MAX, ——=

S$TUD, § REQ'D

3/8-24 UNF-2A
§TUD, 4 REQ'D,

bt 3 42 MAX,

A}
g

I
|
|

3}
£

ex
28

@@ v

1.78

CONSTRUCT iON

MAIN CONTACTS
CONF I GURAT ION
VOLTAGE (NOMINAL)
CURRENT: RES.

CARRY CNLY

RUPTURE

AUX. CONTACTS
CONF i GURATION

VOLTAGE
CURRENT: RES.
IND,
COIL DATA
DUTY CYCLE

COIL VOLTAGE MAX.
FPICKUP VOLTAGE HOT
DROPOUT VOLTAGE
COIL RES.

ENVIRONMENTAL DATA
AMBIENT TEMP

LIFE ELECTRICAL

LIFE MECHANICAL
WEIGHT

NOTES:

HERMET }C SEAL

SPDT SIDESTABLE

30 VDC

300 AMP

1500 AMP INRUSH
1000 AMP FOR 30 SEC.
3000 AMP

SPDT

28 VDC
5 AMP
S AP

INTERMI TTANT

3 MINUTES MAX.

3¢ VDG

20 VDC MAX.

0.5 - 5.5

8.8 OHM = 20% AT 25* C

- 65 C TG o+ 126 €

50,000 CYCLES MIN.
100,000 CYCLES MIN,
2 LBS. 14 0Z,

1. THIS UNIT DESIGNED TO THE BASIC REQUIREMENTS
OF MIL-R-B6106E EXCEPT AS NOTED,
2. QUALIFICATION TESTING NOT COMPLETED.

Oneyac.com

i34 1 39529-017 OVERLAY
12 1 "39528-001 OVERLAY
1114 51807-084 WASHER -~ LOCK NC. 3/8 BRONZE
16 | § 51806-014 WASHER - LOCK NG, 6 SPLIT BRONZE
9 4 51704-024 WASHER, 5/8 X 20/64 X .082 BRASS
8 5 51702-204 WASHER, 3/8 X 8764 X .031 BRASS
7 4 H0407-164 NUT - 3/8-24 X 5/8 X 7,32 HEX BRASS
6 5 S50406-034 NUT, 6-32 ¥ 1/4 X 5/64 HEX BRASS
5 1 38016-020 CONTACTOR ASSEMBLY -~ PRIMARY
4 1 32603-001 PLATE - HEADER D1AGRAM
3 H 16043-074 PLATE NAME
2 4 13121-601 TERMINAL INSULATING CUP
1 4 13120-001 LUG SEAT
£ | ory PART OR NCMENSLATURE. OR FSoL | DRAWING R MATERIAL
N iREG@|  IDENTIFYING KO DESCRIPTION s | SPECIFICATION CR NOTE
REF. HARTMAN ELECTRICAL MANUFACTURING
50-2639 BELL 212-075-199 MANSTIELD, ONIO
PRBY I P CONTACTOR -~ HERMET|CALLY
ENGR |57 SEALED, S.P.D.T., 300 AMP
IKEESS CREXNISE SPECIFIED \../ \ 093
TR CONTROLLED EJ&%H WRES mwm_mﬁ,mmw ,,..J,L SIZE | CODE 1DENT _E_n NG,
CONTR NO, —
CRAWING 2 PL DEC43 PL DEC,|ANGLES! GovT APPVL O Q#Dmu _ >I @ @UI
BELL t .06 | .010 | ¢ 1° SCALE NONE | i{SHEET



https://www.oneyac.com

B NE AR EN, AT, SRR A ISR E B

Downloaded From | Oneyac.com


https://www.oneyac.com/brand/1062.html
https://www.oneyac.com

	>>TE Connectivity(泰科)

